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Princeton Review: Enzymes

1.
a)  Another term for “enzyme”: 
__biological__   ___catalyst__


b)  How many reactions does an enzyme catalyze?
__1__


c)  Therefore, how many types of enzyme must there be in a cell?  __thousands__

2.
What is the “energy of activation”?


Energy input required to start a reaction
3.
a)  What effect does the presence of enzymes have the energy of activation?  

They lower the energy of activation


b) What effect do they have on the speed at which reactants turn into products? 

They make it happen more quickly

4.
a)  Define “biological catalyst”:


They speed up chemical reactions without being consumed or altered themselves


b)  How do you know by the name that a molcule is an enzyme? 

 Name ends in -ase
c)  Some examples:

i)  __Protease__ acts on protein





ii) __Lactase___ acts on lactose





iii) Hydrolase catalyzes __hydrolysis__  __reactions__

5.
Two facts about the active site:



i)  It is the region on the enzyme where reactant molecules bind


ii) It is where the chemical reaction takes place
6.
What is the term used for the reactant that matches a particular enzyme?
  Substrate
7.
The steps involved in enzyme function:



i)  The reaction starts when the __reactant/substrate__ binds loosely to the active site.



ii)  This forms a (temporary) structure called the __enzyme__--__substrate__ complex.



iii)  A __chemical__ change occurs, forming two __products__.



iv)  After they are formed, the products are released from the __active__  __site__.



v)  The enzyme, which is unchanged, is __recycled__ for use in another reaction.

8.
a)  What occurs when an enzyme is denatured?
Its structure is changed.


b)  What effect does this have on it?  It will be unable to bind to the substrate

c)  What two things can denature an enzyme?
i)  heat




ii) acidic environment
9.
a)  What is an inhibitor?


A chemical substance which intereferes with the activity of enzymes by binding to them


b)  How are they classified?
By the way in which they bind

c)  In the diagram, where on the enzyme is the inhibitor binding?

To the active site

d)  How does this stop the reaction?

It blocks the active site so the substrate cannot bind 
